2RXS J211549.7+051500

= TRNR I BN [TV R N WA BB [T RN A B 1TV A N A
I N
o o o o
i i L | i

(A93 s zwd)/suojoyd

gamm*powl

o0} —
e 0}
(@]
o
>~ ]
‘-O -
@ -
i -
™ —
(o))
IR (TR R R O A (TR R A A (1T A A A [T
R R
o o o o
i —] — L o |

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

1.84E-01
1.14E+00

+—-
+—-

1.54E-04

+—

o
™ o <
s ¥ 8 % S
T Y
~ © © MO o
— o o — ™~
— — — | o
Il
Q
® I
S ]
) Il g
(7] ;; Il S
[ V. I [e
wn = z — Z
TIT TTTT[TITT[TTTTITTT]
b bbb
N - O — O

s[enpisay

1.00

0.10

X2req = 1.016

Energy/keV



